

St. Louis County, Minnesota



Date of Report: 5/14/2025 4:36:48 PM

			General De	etails					
Parcel ID:	475-0010-03	3220							
Document:	Abstract - 70	Abstract - 708295							
Document Date	e: 01/29/1998								
		Le	gal Description	on Details					
Plat Name:	NEW INDE	PENDENCE							
Section Township Range Lot Block									
2	20	52		17		-	-		
Description:	W 600 FT 0	OF LOT 4 EX SW	'LY 450 FT						
			Taxpayer D	etails					
axpayer Nam	e OLSON GA	RY L							
and Address:	6392 NO SC	HELIN RD							
	CULVER M	N 55779							
			Owner De	taile					
Owner Name	OLSON GA	RYI	Owner De	lans					
Owner Name	OLSON LOI								
			able 2025 Tax	x Summarv					
	2025 - 1	•			\$1,52	29.00			
	2025 - 8	Special Assessme	ents		\$8	\$85.00			
	2025 -	Total Tax &	Special Asse	ssments	\$1,61	\$1,614.00			
		Currer	t Tax Due (as	s of 5/13/202	5)				
	Due May 15	1	Due Octo	ber 15	1	Total Due			
2025 - 1st Ha	alf Tax \$807.	00 2025 - 2	nd Half Tax	\$80	807.00 2025 - 1st Half Tax Due				
0005 det 11e							\$0.00		
2025 - 1st Half Tax Paid \$807.0		2025-2	2025 - 2nd Half Tax Paid \$0.00		0.00 202	25 - 2nd Half Tax Due	\$807.00		
2025 - 1st Half Due \$0.00		00 2025 - 2	2025 - 2nd Half Due \$807.00		07.00 202	25 - Total Due	\$807.00		
			Parcel De	tails					
Property Addre	ess: 6392 N SCH	IELIN RD, SAGII	NAW MN						
School District									
Tax Increment	District: -								
Property/Home	esteader: OLSON, GA	RY L & LORI L							
		Assessme	ent Details (20	25 Payable	2026)				
<u> </u>	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Lan EMV	d Def Bldg EMV	Net Tax Capacity		
Class Code (Legend)		\$87,700	\$180,500	\$268,200	\$0	\$0	-		
Class Code (Legend) 201	1 - Owner Homestead (100.00% total)			\$11,400	\$0	\$0	-		
(Legend)		\$11,400	\$0	φ11,400	ΨŬ	+ -			



St. Louis County, Minnesota



Date of Report: 5/14/2025 4:36:48 PM

			Land De	etails					
Deeded Acres:	20.97								
Waterfront:	SCHELINS								
Water Front Feet:	365.00								
Water Code & Desc	: W - DRILLED	WELL							
Gas Code & Desc:	-								
Sewer Code & Des	c: S - ON-SITE S	SANITARY SYSTI	EM						
Lot Width:	0.00								
Lot Depth:	0.00								
-	wn are not guaranteed to b	e survev quality. A	Additional lot	information can b	e found at				
https://apps.stlouisc	ountymn.gov/webPlatsIfram	ne/frmPlatStatPop	Up.aspx. If th	nere are any ques	tions, please email PropertyT	ax@stlouiscountymn.gov.			
		Improve	ement 1 D	etails (HOUSE	Ξ)				
Improvement T	ype Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
HOUSE	0	1,03	36	1,274	U Quality / 0 Ft ²	1S+ - 1+ STORY			
Segn	nent Story	Width	Length	Area	Foundat	ion			
BA	\S 1	6	14	84	BASEME	INT			
BA	NS 1.2	28	34	952	BASEME	INT			
Dł	۲ ۲	0	0	308	POST ON G	ROUND			
Bath Coun	t Bedroom	Count	Room C	ount	Fireplace Count	HVAC			
1.5 BATHS			-		-	CENTRAL, FUEL OIL			
			nont 2 Doi	aile (15V22 D					
· · · · · · · · · · · · · · · · · · ·	Veen Dedit	-		tails (15X22 D	•	Otala Orala A Dava			
Improvement T		Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
GARAGE	0			330		DETACHED			
Segn	•		Width Length Are		Foundation				
BA	NS 1	15 22		330	FLOATING	TING SLAB			
		Improven	nent 3 Det	tails (24X36 D)G)				
Improvement T	ype Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
GARAGE	0	86	4	864	-	DETACHED			
Segn	nent Story	Width	Width Length Area		Foundat	ion			
BA	\S 1	1 24 36		864	FLOATING	SLAB			
L		Improver	nont 1 Do	tails (21X36 D		,			
Improvement T	vpe Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
GARAGE	o o o o o o o o o o o o o o o o o o o	100 Widin Fic		756	Dasement Finish	DETACHED			
	-	Width		Area	Foundat				
BA BA	-		Length						
DP		21	36	756	FLOATING	SLAD			
		Improve	ment 5 De	tails (GAZEB	0)				
Improvement T	ype Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
GAZEBO	0	16	5	165	-	-			
Segment Sto		Width	Width Length		Foundat	ion			
BA	\S 1	0	0	165	POST ON G	ROUND			
Improvement 6 Details (8X12 ST)									
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc.									
STORAGE BUILI		96		96		-			
		Width		Area	- Foundat	-			
Segn	-		Length						
BA	NS 0	8	12	96	POST ON GI	TOUND			





St. Louis County, Minnesota

		Improve	ment 7 Details	s (12X16 ST)						
Improvement Type Year Bui		It Main Floor Ft ²		Gross Area Ft ² Base		ement Finish		tyle Coo	le & Desc.	
STORAGE BUILDIN	IG 0	19	2	192		-			-	
Segme	Segment Story		Length	Area	Foundation					
BAS	0	12	12 16 192		POST ON GROUND					
		Improvem	ent 8 Details	(SHIP CONT.)						
Improvement Typ	e Year Built	Main Flo	oor Ft ² Gros	ss Area Ft ²	Baseme	ent Finish	S	tyle Coo	le & Desc.	
STORAGE BUILDIN	IG 0	32	0	320		-			-	
Segme	nt Stor	y Width	Length	h Area		Foundation				
BAS		8	8 40 320		POST ON GROUND					
	:	Sales Reported	to the St. Lo	uis County Au	ditor					
Sa	le Date		Purchase Price			CRV Number				
11	1/1997		\$120,000 1199				119998	998		
		A	ssessment Hi	story						
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV		Def Land EMV	BI	ef dg /IV	Net Tax Capacity	
	201	\$84,100	\$162,800	\$246,90	0	\$0	\$	0	-	
2024 Payable 2025	111	\$10,800	\$0	\$10,800)	\$0	\$	0	-	
	Total	\$94,900	\$162,800	\$257,70	0	\$0	\$	0	2,334.00	
	201	\$84,100	\$162,800	\$246,90	0	\$0	\$	0	-	
2023 Payable 2024	111	\$10,800	\$0	\$10,800)	\$0	\$	0	-	
	Total	\$94,900	\$162,800	\$257,70	0	\$0	\$	0	2,427.00	
	201	\$79,800	\$147,700	\$227,50	0	\$0	\$	0	-	
2022 Payable 2023	111	\$12,800	\$0	\$12,800)	\$0	\$	0	-	
,	Total	\$92,600	\$147,700	\$240,30	0	\$0	\$	0	2,235.00	
2021 Payable 2022	201	\$79,800	\$133,700	,700 \$213,500		\$0	\$	0	-	
	111	\$12,800	\$0	\$12,800)	\$0	\$	0	-	
	Total	\$92,600	\$133,700	\$226,30	0	\$0	\$	0	2,083.00	
		T	Fax Detail His	tory			<u> </u>	I		
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	s Taxable Lar		Taxable Bui MV	ilding	Total T	axable MV	
2024	\$1,945.00	\$85.00	\$2,030.00	\$89,78	\$152,897)7	\$242,681		
2023	\$1,901.00	\$85.00	\$1,986.00	\$86,71	9	\$136,816		\$223,535		
2022	\$1,983.00	\$85.00	\$2,068.00	\$85,86	863 \$122,4		2 \$208,275			







Date of Report: 5/14/2025 4:36:48 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.